
2 х 5 + 24 =     9 х 2 + 42 =  

                 

7 х 2 - 6 =     2 х 6 - 8 =  

                 

40 - 5 х 2 =     39 - 2 х 4 =  

                 

28 + 2 х 6 =     12 + 8 х 2 =  

                 

 

2 х 7 + 52 =     6 х 2 + 47 =  

                 

9 х 2 - 16 =     2 х 10 - 8 =  

                 

60 - 5 х 2 =     45 - 2 х 4 =  

                 

55 + 2 х 6 =     33 + 2 х 8 =  

                 

 

2 х 4 + 56 =     9 х 2 + 12 =  

                 

5 х 2 - 6 =     6 х 2 - 5 =  

                 

90 - 5 х 2 =     69 - 2 х 4 =  

                 

38 + 2 х 6 =     44 + 8 х 2 =  

                 

 

 

 


